The University of Jordan
Air Pollution
Midterm Exam 2" Summer Semester 2016/2017
Student's Nzuney,-,g;c::;r,» Student's Number: 24451 ( 24/ )
Question 1 (2 Marks) SR T l

4 List the factors that influence the Insolation.
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Question 2 (3 Marks)
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@ Question 3 (4 Marks) : e s

Define the following: Wind rose, superadiabatic lapse rate, radiation inversion, and
. . T /"’——-—/
fumigation plume,
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)Question 4 (3 Marks)
) Explain how the dispersion of pollutants could be enhanced.

M Augeblon v D 5\-1\‘*\0.»'

y T
o ‘ ) \,/ )[/ I

@) i) faqf)awg& A e et polBion— m%kﬂx s i f/e":t <3

2 R S R
60 Aolier st Jé__.?cm&} w® '

r./-—._’—.h-. —_—

Y / cwl“\é E /67[\ -
( /'/\“' y\

A | A\

g 0t

Scanned with CamScanner



Question 5 (3 Marks)

Mention the particulate matter classifications, and the most harmful forms of it.
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Question 6 (2 Marks)

Explain the mechanism by which ozone is depleted.
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Question 7 (3 Marks)

\ . What are the living organisms which can pollute indoors and explain its impact on
/ human health?
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! Question 8 (3 Marks) A

The wnccntr.ltlﬂll of carbon lhmudc in the exhaust stack at ]77 °C

7 _Cand 1.2 atm s
/ > 171'/11 . Does this value exceed the concentration found in standard dry
/ (’ air (330‘_!1)111).
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Question 9 (7 Marks)
) On an ove‘%ast day a stack with an effective h£1 ght of 60 m is releasing sulfur dioxide. It
- has a mean concentration on the ground 500 m downwi

cf5_37*10 kg/m®) The wind speed is 6 IL]ll/S The stack is locate

“the ¢ emlssm)a.grate of the stackland “the maximum mean concentration (Cpyay)
levm1y downwind at&m equals 1.2km.

3
and 50'm crosswind equal
dina rural area. Determine
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According to Gaussian dispersion model, the ground-level pollution concentration due to
@ elevated source (z=0, H), and the maximum ground level concentration at the center
line, could be calculated according to the following formulas, respectively:
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at the distance x,,,, for which 6, = o
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Table 5-2 Recommended Equations for Pasquill-Gifford Dispersion Coefficients
for Plume Dispersion!? (the downwind distance x has units of meters)
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Pasquill-Gitford
stability class a, (m) o (m)
Rural conditions
A 0.22x(1 = 0.0001x) "7 0.290x
B 0.16x(1 = 0.0001x)™"" 0.12x
§ o 0.11x(1 = 0.000Lx) "~ 0.08¢(1 ~ 0.0002x¢) 7
(D} —— e (00811 + 0.0001x) 7 0.06x(1 - 0.00155)7
E 0.06x(1 ~ 0.0001x) ** 0.093¢(] - 0.0043x) !
F 0.04x(1 = 0.0001x)*= 0.016x(1 + 0.0003x) '
Urban conditions
A-B 0.32x(1 ~ 0.0004x)"'# 0.24x(1 - 0.0001x)" %2
D 0.22x(1 - 0.0004x) 7 0.20x
D 0.16x(1 + 0.0004x) ™" 0.24x(1 — 0.0003x) 17
E-F 0.12x(1 ~ 0,0004x)7 0.08¢(1 - 0.0015x) **
A-F are defined in Tabke 5-1.
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The University of Jordan
Air Pollution

Quiz 3 ; 2™ Summer Semester 20&1\6\/2017
Student's{Name: 2}/;9{‘)&.947»' Student's Number: @

Question 1 (4 Marks)

Explain the mechanism by which ozone prevents ultraviolet radiation from reaching

carth’s surface.
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Question 2 (6 Marks)

What are the living organisms which can pollute indoors, and explain its impact on
the human health? Z
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The University of Jorda

Air Pollution
Quiz 5 2" Summer Semester 29_&/2017
Student's Name: € g;_?rn- Student's Number: (7 4

LQuestion.l (5 Marks)

List the steps of the control strategy required for an industrial environmental

impact.

D el Ko V-'\X Q(b\a\-?_u\ wm(.E-J‘Q

@ wosligdon of  sewes - \)\
@ gpe Apphation cowkol thWl‘*‘&? .

® Uwze @t oQCWEA‘O*"J_

Question 2 (5 Marks)

What are the five categories of evaporative volat:le organic.compounds emissions

from motor vehicle fuel ssstcms" .
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The/ University of Jordan
y _AirRollution

Quiz 3” 2™ Summer Semester 2016/2017
-~ 4 < l
Student's Name: —;9°__ce..  Student's Number: (2.4

Question 1 (4 Marks)

Explain the mechanism by which ozone is depleted in the stratosphere.
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Question 2 (6 Marks)

Give three examples of the po]atile (;‘g'mic compounds|which can pollute indoors,

its sources, and explain its chronic lmpact on the human health.
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v The University of Jordan
= Air Pollution

Quiz 2 2" Summer' Semester 2016/2017

24/ Student's Name:__—~; 3% <=k~  Student's Number: oi35y< ¥ EBN

Question 1 (4 marks)

Discus the impact of the topographical features on the atmosphere,
ce
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Digcus the basic conditions of the atmosphere using a drawing.
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